Metal Dining Table
Assembly Manual

~

- Prior to assembly,please confirm all of the parts listed included.

- All bolts should be tightened before use.Maybe,you need allen wrench for
assembly.

* Missing part? Damaged?
Contact us via email at service@domioutdoorliving.com

© Copyright 2023-2025 domi LLC. All Rights Reserved.




<> . | e
M6X12

O 2X @ 1X @ 22X 4 X ® 16X
D6 M6X115 M6 T—>

® 16X @D 44X 4 X 4 X @ 11X

Attention:

Put a mat under to minimize the scratching of the table during installation.
The openings of Parts @ are equipped with plastic plugs to prevent deformation.
When ready to install, please ensure to remove these plastic plugs from Parts @.




((((((((@

M6X12
® 2X 4 X ® 16X
@\/ = (@ 1x
M6X115 M6 P —
® 16X 4 X 4 X 4 X @ 1X

Insert Parts ® to Parts @ and place Part ® as shown.

Then Put two Parts @O together completely.

Secure the tabletop with 4 part @, 4 screws ® and 4 nuts ® as shown.

Please don’t fully tighten the screws before all the kits are

connected in this step.




©

=3
@

M6X12

@ 44X ® 16X

= @ 1X
M6 /7

L

Assemble Table top to the 4 legs with washers® and screws ®.
After all screws are assembled in place, tighten them together.




Thanks for your purchase.

At domi outdoor living, we believe in our products.
That’s why we provide a 12-month warranty and
friendly, casy-to-reach after-sales service. So if you
have any questions about our product and assembly-

,please feel free to contact us. We will be here for you.

Support: 0

After-sales contact email:

service@domioutdoorliving.com

Please tell us your order ID when contact.

Attach photos of damaged part for instant reply.

© Copyright 2022-2024 domi LLC. | All Rights Reserved.




